# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills	29			Date Regist	- site bil ter	IS	29-0	11-22
register	29			Site:			191	
Company Name:	MRPL	LY					14.	
Name of Contractor	1	7. Vi3	aya	lazi	wi			
Nature of work	•	Parul	Pug	w	osk _	Data		1 - 2
Work done	From Dat	e	12-	01-3	22	Date		Contractors
Sl. Villa/Flat/block no	o. Qty.		Rate		Units	Amou	nt	bill no
No.			0 /	-,	c/ 1	07	11-11-	
1. Magngale en		54	26	-1	Sta		4041-	
2. once 2 som			1.7	51	160			
3. grown Polint	ins 119	16		75/	36+		249 F	
4. wook.	158	34	12.7	15/-	541	20,1	16/-	
5.								
6. Deduction	n 12	0	12.5	5/-	(2-)		5301-	
7. for window	28		12.5		127		5) 1-	
8. and doods.	4		12:	+5	571	-5	1 /-	
9.								
10.							<u>/</u>	
11.	otal:	-		_	-	63	0041	
Bill required	DYES [	NO.		GST	bill requ	ired		<u>UNO.</u>
Measurement &	<b>⊌</b> Requir	ed			surement		₩ Enclo	
estimate sheet:	□ Not rec	quired			ate sheet	t:	□ Not e	nclosed
PO/WO no.	_	-		PO/V	VO date:		_	
Remarks: wook	Cours	Hec	1.					
70001								
Approved by Project M	lanager	Appro	ved b	y Des	ign Team	App	proved by	y M.D.
Date: 29-01-	22	Date:				Dat	e:	
Sign:	_	Sign:				Sig	n:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

### **Bill for Labour Charges**

#### M. Vijaya laxmi. Addres:29-533, Vinayaka nagar ,neredmet,malkajgiri Hyderabad

Date:29.01.22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Main gate entrance arch painting work.	
	Total Amount =63004/-	Rs.25201/-
	Work done from date 12.01.22 to date: 26.1.2022	

Amount in words: Twenty five thousand two hunderd and one rupees only.

C:		
Sign:		
_	 	 

## **Bill for Equipment Charges**

M. Vijaya laxmi. Addres:29-533, Vinayaka nagar ,neredmet,malkajgiri Hyderabad

Date:29.01.22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of Main gate entrance arch painting work.	Rs.25201/-
	Total Amount =63004/-	
	Work done from date 12.01.22 to date: 26.1.2022	

Amount in words: Twenty five thousand two hunderd and one rupees only.

## Bill for Consumble Charges

#### M. Vijaya laxmi. Addres:29-533, Vinayaka nagar ,neredmet,malkajgiri Hyderabad

Date:29.01.22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of	
	Main gate entrance arch painting work.	
		Rs.12600/-
	Total Amount =63004/-	
	Total Amount =63004/-	
	Work done from date 12.01.22 to date: 26.1.2022	

Amount in words: Twelve thousand six hundred rupees only.

		2.0		2.0	1.0	1.0	_	4.0
Deduction of windows of security room	of security room	6.0 7.0		5.0		1.0	1.0 4.0 1.0 2.0	
oom 2coats putt	Security room 2coats putty applying and painting work for internal and external walls	s 24.0	0 33.0	0.0		1.0	1.0 2.0	
y apllying and painti arch elevation wall	2coast putty apllying and painting work for arch elevation wall	23.0	0 13.0	.0		1.0	1.0 4.0	
main gate entrance arch 2coats primer	1 2coats primer	23.0	13.0	.0		1.0	1.0 4.0	
ying and 2 coats of for arch room	Texture applying and 2 coats of painting work for arch room	k 15.5	5 17.0	.0		1.0	1.0 4.0	
Item Description	tion	Length	Width			Height	ight No's	
M.Vijayalaxmi					- 1			
Painting work								
Nilgiri Heights					- 1			
				App	=	Approved		oved by: Vijay raj
						_		

	63,004.00	Total amount:						
		51.00	12.75	Sft	4.0			
		357.00	12.75	Sft	28.0			
		1,530.00	12.75	Sft	120.0	s Deduction of windows of security room	Deduction of windows	2
	64,942.00							
		20,196.00	12.75	Sft	1584.0	Security room 2 coats putty applying and painting work for internal and external walls		
		15,249.00	12.75	Sft	1196.0	2coast putty apllying and painting work for arch elevation wall		
		2,093.00	1.75	Sft	1196.0	main gate entrance arch 2 coats primer applying		
· · ·		27,404.00	26.00	Sft	1054.0	Texture applying and 2 coats of painting work for arch room	Main gate entrance arch&secutiy room painting work	1
	Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
						29.01.22		Date:
			2			Anil.M	By:	Prepared By:
						M.VIjaya laxmi		Contractor
						Painting work		Work Description:
		2		. alder		Nilgiri Heights		Project:
		=-	Approved by: Vijay rai	Approved		MRPLLP		Company Name:
							ESTIMATE SHEET	ESTIMA

